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(kg/hr) (kg/hr) (kg/hr) (&)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(DA 2.277 0.028 - 1.121 0.052 &
LA i 1.512 0.018 - 0.356 0.083 =
/L4, (HCI) 4,545 0.002 - 0.427 0.169 =
mIbE (HF) 0.306 0.001 - 0.114 0.040 =
— &b (SO2) 15.147 0.037 - 5.412 2.479 =
—4&bi% (CO) 7.578 0.001 - 0.822 0.099 g
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.338 - 7.153 1.160 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.039 - 0.181 0.058 &
LA 0.756 0.046 - 0.136 0.082 =
Z/LE (HCI) 0.756 0.053 - 0.252 0.165 s
wAbE (HF) 0.072 0.013 - 0.053 0.039 s
— &b (SO2) 3.789 2.149 - 2.732 2.473 =
—&Ei% (CO) 3.789 0.034 - 0.196 0.101 g
HAY (NOx)
DL E/EE (NOY) 15.147 0.518 - 3.173 1.219 =
ETHE
28 HERPRE® BEa=st R R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0013 =
R A 0.0378 <0.0059 &
IR R g ) 7.575 x 10°° <6.703 x 1020 &
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S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (&)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(DA 2.277 0.001 - 0.572 0.014 &
LA i 1.512 0.019 - 0.228 0.056 =
/L4, (HCI) 4,545 0.018 - 0.201 0.103 =
mIbE (HF) 0.306 0.011 - 0.062 0.037 =
— &b (SO2) 15.147 0.035 - 2.917 1.931 =
—4& kbR (CO) 7.578 0.000 - 0.457 0.050 =
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.813-7.312 2.566 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.002 - 0.198 0.014 &
LA 0.756 0.025 - 0.123 0.057 =
#F/bE (HCI) 0.756 0.037 - 0.159 0.102 s
wAbE (HF) 0.072 0.026 - 0.043 0.037 =
— &b (SO2) 3.789 1.561 - 2.444 1.938 =
—&Ei% (CO) 3.789 0.015 - 0.107 0.050 =
HAY (NOx)
DL=%AEE (NO2) 15.147 1.245 - 6.071 2.559 =
ETHE
28 HERPRE® BEa=st R R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
K 0.003789 <0.0004 =
S SE VAR 0.003789 <0.0014 =
R A 0.0378 <0.0064 &
IR R g ) 7.575 x 10°° <7.198 x 1010 &
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S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.007 - 0.049 0.013 &
LA i 1.512 0.000 - 0.204 0.055 =
/L4, (HCI) 4,545 0.012 - 0.153 0.078 =
mIbE (HF) 0.306 0.002 - 0.049 0.028 =
— &b (SO2) 15.147 0.018 - 5.100 1.776 =
—4&bi% (CO) 7.578 0.000 - 0.278 0.069 g
HELY (NOx)
PL—&/EE (NO2) 30.303 0.339 - 6.361 0.996 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.011 - 0.024 0.013 &
LA 0.756 0.011 - 0.094 0.055 =
#F/bE (HCI) 0.756 0.055 - 0.103 0.077 s
wAbE (HF) 0.072 0.018 - 0.034 0.027 =
— &b (SO2) 3.789 1.545 - 1.864 1.775 =
—&Ei% (CO) 3.789 0.027 - 0.166 0.070 =
HAY (NOx)
DL E/EE (NOY) 15.147 0.623 - 1.407 0.994 =
ETHE
28 HERPRE® BEa=st R R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0011 =
R A 0.0378 <0.005 &
IR R g ) 7.575 x 10°° <5.486 x 1020 &
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